=100 1

=t — IR FER (ax+by+cz=d)

W44

: 2x— 5y +2z=-13

Ix—2y+5z=4
dx+ 4y —4z =128

=3y +22=32

Sx—2y—2z=4
2x—3y+1z=1

P x+3y—22=19

4x—3y—5z=-32
6x— ly+4z =157

H #A:

6x—3y—1z=4
Ix+2y—4z=23
Ix+4y—4z=29

Ix+4y—3z=-8
dx+ 3y —5z=-2
4x—2y+1z=136

4x— 2y + 6z =136
2x+ 4y + 62z =82
Sx+2y—1z=13
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=100 1

=t — IR FER (ax+by+cz=d)

W44

: 2x—5y+2z=-13

Ix—2y+5z=4
4x+ 4y —4z = 28
x=4
y=3
z=2

=3y +2:=32

Sx—2y—2z=4
2x—3y+1z=1
x=6
y=06
z="1
5. _
2x+3y—2z=19
4x—3y—5z=-32
6x— ly+4z =157
x=6
y="1
z="1

H 1.

6x—3y—1z=4
Ix+2y—4z=23
Ix+4y—4z=29

N X
I
DD co Wn

Ix+4y—3z=-8
4+ 3y—5z=-2
4x—2y+1z=36

S
I
0 N oo

4x— 2y + 6z =36
2x+ 4y + 6z =82
5x+2y—1z=13

N X
I
0 oo —
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